How and Why?

1. Describe the differences between the Democrats and Republicans regarding the legacy of the New Deal in the period 1945-1952.
2. How did the second Red Scare differ from the first? What was the overriding goal of the second Red Scare and was it successful? Why or why not?
3. What were the major objectives expressed in NSC-68?

4. What evidence reveals the existence of consumer and baby booms in the immediate postwar years?
5. How did the Taft-Hartley Act reduce the influence and power of American labor?
6. What combined roles did the Truman administration and the Republican Party play in promoting fear of an internal communist threat?
7. Analyze the causes of Harry Truman’s upset victory in the election of 1948. Which factor do you believe was the most decisive?
8. Describe the relationship of containment and NSC-68 to the purpose of the American involvement in the Korean War. Do you feel that the U.S. was successful in achieving its goals?
9. What were the causes of the intense fear of communist subversion in the late 1940s and early 1950s? Who were the key figures in the Second Red Scare? What long term impact did the Red Scare have on American society?
10. Choose three of the following factors that intensified the Cold War and evaluate them:          NSC-68, Soviet expansionism, American fear of communist infiltration, spy rings, the further development of nuclear weapons, the strategy of containment, the victory of Chinese Communists. 

